o
[N

<0 @> (rad)
o
o [
[y [4)]

.........

..........................

100,

w

-1

0 1 2 3
TP n (PCA to beamline)

o
[N

< o cot(y) >
o
[N
[¢)]

o
N

o
TIT [T T [ TI [T T T[T I [T T[rrrT

.......

...........................

I
=}
NN

|
w

0 1 2 3
TP n (PCA to beamline)

DQM_mkFit_TTbharPU50_extractedGeoms_rescaleError100
DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0

DQM_mkFit_TTbarPU50_extractedGeoms_rescaleError100_pTCutOverlapOp0_dynamicChi2CutOverlap

A OO @
o O O

< 00, > (M)

20

100

RatioI

0.5

i |

W

0 1 2 3
TP n (PCA to beamline)

<0 / > (Y
PP, > (70)
O = N W N O

(O L R I LR AR R RNl RR R RRRRN RN AR R AR RARRN LRRL

0o 1 2 3
TP n (PCA to beamline)

= 100

100

RatioI

I
3]

|
w

: 4 i
: 4 T :
L. : . ﬁ*....-
. -1l
: 4
. 14 4
: 4
ol 1 A AL O O A 1
o i : R I
F . FLL$3LLLE :
14 ¥ A A H-| be- &1 4 B
[ I ’
- I - - L4

0 1 2 3
TP n (PCA to beamline)



	Contents
	Page 1


